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e Please check that this question paper contains 11 printed pages.

e (Code number given on the right hand side of the question paper should be
written on the title page of the answer-book by the candidate.

e Please check that this question paper contains 28 questions.

e Please write down the Serial Number of the question before
attempting it.

e 15 minute time has been allotted to read this question paper. The question
paper will be distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the

students will read the question paper only and will not write any answer on
the answer-book during this period.
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General Instructions :

Questions No. 1 to 10 are Multiple Choice Questions. Choose the correct option
out of the given options and write the same in your answer-sheet.

1.

3%hT T JETeh 1 JAIT dd foham SI1ar 2 59

(31) Uehd IU1G TG HEAT H SR S1dT 8
(@) e fomr @y o &1 W smem W TR S R
(|) TH Al Al 1 HE SR W iR ST @

Contract costing is used when
(a) A single product is mass produced
(b)  The work is done on no profit no loss basis

(c) A big long-term job is carried out at the site

frffaa 9 9 98 T 31men fidt & ot anma oramend 13U fafy 7 -

() dfETed AT @R

() 3G ATTG TE@TehA

(@)  3H AN G

The following is a suitable method of costing for flour mills :
(a)  Operating costing

(b)  Output costing

(c) Contract costing
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While reconciling the cost and financial accounts, if costing profit is taken
as the base, then the items to be added to costing profit are

(a) Amount by which the opening inventory is overvalued in cost
accounts and items of income included in financial accounts only.

(b)  Amount by which the opening inventory is undervalued in cost
accounts and items of expenditure included in financial accounts
only.

(c) Amount by which the closing inventory is overvalued in cost
accounts and under-absorption of overheads in cost accounts.

fafafigd 9 9 59 ST A 3R AN AW 1 IUAT g7 fohAT I 1
(31) Tl femior
(&) e fmfor
(|) @eh fmio

Contract costing is not used in one of the following industries :
(a)  Ship building
(b)  Brick making

(c) Building roads
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Single or output costing is used to calculate

(a)  The cost per unit of the manufactured goods
(b)  Cost of a service provided

(c) Cost of a contract on its completion

AT Gl | ANIRe (A ) R e |
() TG AT KA B T B

(9) ST W WG Sl 8
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Notional rent charged in cost accounts
(a)  Decreases costing profit
(b)  Increases costing profit

(c) Decreases financial profit

Teh AT g o T, IUYH AN i@ i fafer gift
(31) SR ANT AGTHA

(d) ufEres ana dRETe

(®) gfskan AmTa @R

For a Nursing Home, the suitable method of costing will be

(a)  Contract costing
(b)  Operating costing

(c) Process costing
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In transport costing, maintenance charges include

(a)  Overhaul charges, salary of supervisor and wages of the driver
(b)  Diesel, total cost of tubes and tyres and wages of the cleaner

(c) Vehicle service and repair charges

9.  YfShAT AT TG q9 3Uh B! & 919
(37) TR €9 & THEHH Il T Gt 1 H IcATe AT STt &/
(9) s UTEh o I8l SRt fehaT ST &
(|) IAH IE] UTEH o FdId STTHAR S &l

Process costing is appropriate when

(a)  Similar products are mass produced on a continuous basis
(b)  Work has to be done at the customer’s site

(c) Each product has to be made as per customer’s specification

10. 9 qUf feRU TTT T SHTTG Sl 1 oA 3ohT 7oA T 40% B, A1 ATH-EIH @
T 31 foRU S 9T 1Y 3

(31) =
(¥) & A9 AT 2/3

(") A AH R 1/3

When the value of work completed and certified is 40% of the contract
price, the profit to be credited to Profit and Loss a/c is

(a) Nil
(b)  2/3 of the total profit
(c) 1/3 of the total profit
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13.

14.

15.

16.

17.

18.

19.

el @g (s9) A fohd Jehr gt i St & 2

How is economic batch quantity determined ?

UE fopegl =R wgi o AW Ay S e ol @i | &1 fo@rs St & |

Name any four items which are shown only in financial accounts.

39hR (STd) T @A qAT 3ol AT oi@lehd H 3= & ohig al fag
odrsu |

Give any two points of distinction between job costing and contract
costing.

3T AT @R § ‘glg ameImsr i FHIST |

Explain ‘escalation clause’ in contract costing.

YT I -1 8 2 ITshaT ANTd i@l | 39eh! i@l fopd JehR femam iram @ 2
What is abnormal loss ? How is it treated in process cost accounts ?

AT 3R foxfiw gl ° fiam @ 6 stawear g 3 & o @ s
FATST |

Give two reasons to prove the necessity of reconciling cost and financial
accounts.

TIYH IATG qAT 70T IcUTE ohl IRATRYA HIfT |

Define joint product and by-product.

Tfshal ANTA TG o AT ITYRR Tohrgl TR TN o6 ATH TSy, |

Name any four industries suitable for process costing.

3UHHE (I AT AGThA o TR ATl Jeat@ HINT |

Mention four advantages of job costing.

DS#ml oaded From : http://cbsepbrtal . cont Court esy

CBSE


http://cbseportal.com/
http://cbseportal.com/

Downl oaded From : http://cbseportal.conl
20. UH kIS I hRUI Iq3¢ ST AN @il gy 7R fofia wrai g fegme o |

T 39T L Hehd @ | 2

Give any two causes which may create a difference between the profits
shown by cost accounts and financial accounts.

21. I NG AGi & ATH sl ATUR FHT A1 7, 9 HAH Hid a9g H=felad =
AGT 3T H H4T ? 3
() <N oEl | I9TeTt 1 SAfa (2Afeer) med
(@) ¢S WS had Ard w@i | g afeafad e w2
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How would you treat the following at the time of reconciliation if profit as
per cost accounts is taken as the base ?

(a)  Over-absorption of overheads in cost accounts
(b)  Interest on capital is included only in cost accounts

(c) Opening stock is undervalued in cost accounts

22. U= AN AQihd 1 8 2 I8 Afsham ANTd d@ichd 8 forg Jepr firer 3 2 3

What is operating costing ? How does it differ from process costing ?
23. YU Sl W AW I AT A & fT¢ gm=Ia: foha Femi o1 ogaor forn
ST B 2 3

What rules are generally followed for calculating profit on incomplete
contracts ?

24, YfshaT AN @ral °§ G g1 9T ST9EE AT 1 @@ 379 fh8 IR

HAT ? 3
How will you treat normal loss and abnormal gain in process cost
accounts ?

25. WNTd faerorus (i 3fie) o o oy sy | 3

State three advantages of a cost sheet.
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26. 1 S, 2017 & & fhT TT T 8,00,000 % T TT Th Ioh & Traf-erd

el e € 8 R
T
friftra wmmft 1,40,000
LECURSISEICR] 2,00,000
ISl T TR S AT 5,00,000
31 femmsw, 2017 1 HEESA W grft 60,000
31 femmsr, 2017 1 gl S *1 god 3,00,000
31 femest, 2017 d IT=d Uhs 2,70,000
31 fegwsr, 2017 1 STUHIUG 1 6 AT 90,000
9 W g™ AT T 10%
Y & AR @Id § 1 FohY S aTel &9 1 g0Id g 2017 1 ST @Il
AR | 5

The following information is given in respect of a contract for ¥ 8,00,000
which was commenced on 1% January, 2017 :

3T
Material issued 1,40,000
Labour charges and overheads 2,00,000
Plant issued at cost 5,00,000
Material at site on 31 December, 2017 60,000
Value of work certified on 31 December, 2017 3,00,000
Cash received upto 31 December, 2017 2,70,000
Cost of work uncertified on 31 December, 2017 90,000
Depreciation on plant 10% of cost

Prepare the Contract a/c for 2017 showing the profit to be credited to the
year’s Profit and Loss a/c.
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AT

Teh 391G I & Toh F TTehATSTT | Bkt ToRAT & — Sisha I 3R Ufsha II. 39
fsharatt & 9R # Fefafed et @ gfsham 1 @rar qon ufskan 11 @rdn

STST |

1T i I1
Tea ATt (SHTSAT) 2,000 -
gt Y g goh1g @rd () 10 -
eI weigll (3) 50,000 50,000
U (T) 20,600 22,720
IcqTE (3ohrsAT) 1,800 1,440
AT B (379 1 %) 10% 10%
31afime (WhY) 1 aEel god ufd §E (T) 3 4
What is job costing ? Explain the important features and objectives of job
costing.

OR

A product passes through two processes to completion — Process I and
Process II. From the following information about these processes, prepare
Process I a/c and Process II a/c :

Process 1 Process 11
Direct materials (units) 2,000 -
Cost of material per unit (¥) 10 -
Direct wages (3) 50,000 50,000
Overheads (3) 20,600 22,720
Output (units) 1,800 1,440
Normal loss (% of input) 10% 10%
Realizable value of scrap p.u. (3) 3 4
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(1) FrRE (T )

(F) = O (T BfEe)

YT

Toh URaed 9a1 wFol feeedl 3R ®ieee & o= Uh 99 Il @l & | 918
fearax 2017 & T=fafaa foawon @ gfa I -feredier @ fFemfaT -

S ST S 9Tl A6 S eftEd T 30

HEH ® a9 fopu T A FeRateR 1500 feret
e 9 ad T 6,000
L, |7 g 7d T 4,000
B T 5,500
TS qAT 3 IR T 7,000

Explain how will the following items of closing inventory be valued in

cost accounts :
(a)  Work-in-progress

(b) Raw materials

OR
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A transport service company is running a bus between Delhi and
Faridabad. From the following particulars for the month of

December 2017, find out the cost per passenger-kilometre :

Average number of passengers carried 30

Total kilometres covered for the month 1500 km
Diesel and oil < 6,000
Taxes, insurance and repairs T 4,000
Depreciation T 5,500
Interest and other charges T 7,000
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